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H: UHFTHEES (LY /ANLHE - HEXRZ)
©2: XNYA S = (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Iy 706,176 674,114 32,062
ANAFETHEES (Lo H /AL - HEXE) 550,836 522,974 27,862
KA S0E 272,943 262,184 10,759
SH 2uE 236,598 226,690 9,908
101 @124l 5,753 5,328 425
04 D12t 22 HEE = 5,753 5,328 425
OFSAH UM L HIUMZH Hede 5,753
—Jles 41,6803 * 1% = 110 4,585
T4 41,6803 * 18 » 23¢ 959
— eS¢ 41,6802 * 1H * 5 209
201 2ot Y| 154,119 140,319 13,800
01 At 22l 30,269 30,269 0
OZMERDXNA R 8,900
— D2 ERIDXNM(FSEM & SEHAAM)
80,000&  50&FA 4,000
—=ANE ERIANM(HEMN L SEHAM)
70,0003 » 502 A 3,500
—dJI2 S88&AN AXA
70,0003 » 202+ A 1,400
Oz SEYHGAH g8 289
60,000& * 15014 * 13l 900
OFJIIz SSHGA 5 22828 MER
10,0003 = 20 » 2004 « 13l 400
OPNR= (= S 50,000& * 30& 1,500
OXNgNYE 428 M 2
80,000& * 45 » 5& 1,600
OXzEag dabed 3,000& » 200% 600
O=2AMH221 24 35,000& » 50 1,750
OFHSEHME ZeH =48t 700,000& * 3CH 2,100
OHMEAEI HEX (AMMEE)
50,000 » 502t A 2,500
ODXNAM eIME NE5Z2HI 83 2 10,019
- &4 553,000& * 8H 4,424
—cd 1,937,000& * 104 1,937
—RAEEYH EE 50,000& * 3K 150
— DI XA 560,000& = 1H 560
— Ze2|l XA 938,000& * 1JH 938
—EdAH XA 425,000& = 1K 425
—-E4HEH 279,000& * 10K 279
—32d |SUE 1,306,000 = 14 1,306
02 =24l 123,850 110,050 13,800
OCHUYIZ 48 =28 50& = 25,000A 1,250
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SA BB O () - MM - HES il
OJNaAHH 8 =8 80& 80,0004 6,400
OXNgNMEE =2 50& = 50,0002 2,500
OCD/ATM JtEEY R =25 100& = 20,000 2,000
OXEHM DXNMH SEZ(AIMZE) 102,700
- S| 1,900& = 10,0004 19,000
— gt 270@ + 310,000 83,700
ORXEAN &I R = 5,400
— =IO eH FAES 300,000& = 12& 3,600
—DXNNSEI FANES 150,000& * 128 1,800
ON&AESEALE RXE S
300,000& = 12& 3,600
203 R =&l 3,000 3,000 0
03 Al =X H R =& 3,000 3,000 0
OM=SUHIRF=a 3,000,000 * 14 3,000
204 MR=HAH| 36,000 36,000 0
03 EZYFEHI 36,000 36,000 0
OM=REgs2& 100,000& = 30 » 12&8 36,000
306 ¢ 2 6,130 6,300 A170
01 &3 6,130 6,300 A170
OXNgNEEIIZ &3 6,130,000& » 14! 6,130
403 XAXISHM S K201 A 30,896 29,443 1,453
02 212 S Ofl O B CH & AL 2 ] 30,896 29,443 1,453
OHEZEXEAMN2E XY 22,997,000& = 14 22,997
OSEXNLASE X2 5,258,000& 14 5,258
Osg=gd A28 2F X &b
2,641,000& * 14 2,641
405 XHoHE S HI 700 0 700
01 XML 2 EF S| 700 0 700
O2 A AHIED] 700,000& = 1CH 700
AN 252 36,345 35,494 851
101 1A Hl 11,505 10,654 851
M4 JI2ZHZEXNSES 11,505 10,654 851
OAM HEXtE 24 L T AFH 11,505
—Jlas 41,6803 * 2% x 110 9,170
— T4 41,6803 * 2% » 23 1,918
— R s7II=EY 41,680 * 2% * 52 417
201 LBt H Y| 24,840 24,840 0
01 At 2t 2|l 24,840 24,840 0
OAM €20XA R 15,400
— XSO0l 22X M 70,0003 = 408 A 2,800
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SA BB (SH) - NRAY - B Ol At o %@i HRE2
— "I YHIDXABH A2)
70,000 * 1508+ A 10,500
— A2 YHMIXA(HAN EX)
70,000 = 308FA 2,100
O&FIIE MM €8 2389
60,000& = 1502 * 53] 4,500
OFIE XA 8 =882 AISE
10,000& * 20 * 204 * 53] 2,000
OGFANXNEMASARAS HAELH
70,000 « 7H x 63| 2,940
Lol Al 89,072 78,282 10,790
Mg A 89,072 78,282 10,790
201 gEt2A | 63,772 72,282 A8,510
01 AP 22| H| 16,100 23,350 NT,250
Q=2 2ot DX A
70,000 = 10B8FA 700
OXZEAM MEDXAM S 70,0008 = 1008 A 7,000
OXSX HS T gx2d JASK
500,000 = 38FA 1,500
ONMYAM e =2 89
60,000 = 15002 * 63l 5,400
OMY e s X010 &0t
60,000 *« 5JHA + 53] 1,500
02 B32%H| 47,672 48,932 A 1,260
ONMYMHEDIIAN &5 RS
2702 x 25,0004 * 43| 27,000
OXNSXHHSEHAX HIOM &8s RES
270 = 6,000 1,620
OFXEI s 2 1,000& = 2,000 2,000
OPDA R AIE 4| 131,0008 * 12& 1,572
OMYEXNHtHSTHAIIAIAE KX E2H|
330,000& » 12€ 3,960
OMYXISSHAEE HZ20 g fE=2
1,900 = 300 570
OMY X MEHdE2 oN & EXNAN 25 28
2 1,900 = 5004 950
O3MuddiX=+=2 (SHAHSHE ML)
600,0008 * 53| 3,000
OdEgdE X3l MHlA 0l22 (01 2508HH 0] oF
M) 4,000,000& = {14l 4,000
ONMYXtg HAQ Y o H &
3,000,000& = 14l 3,000
303 Z A2 12,000 6,000 6,000
01 LAZ 12,000 6,000 6,000
O MM &z ZAZ

5,000,000& = 23l 10,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUEE M+ d+=Hd3
1,000,000& = 23] 2,000
405 TtobFH SHI 13,300 0 13,300
01 AL EZFH S 13,300 0 13,300
SUHE ANSHHUHSEHIAIAIAEY 2 13,300
— 508 NSXNHSBHAIAAE (HHIZLE)
2,000,000& = 5CH 10,000
—sls =ZgH 660,000& = 5CH 3,300
Nel+=g 2ud 54,613 38,788 15,825
N2l SHE 54,613 38,788 15,825
101 14 Hl 5,753 5,328 425
04 JIZHHZ2XNSE S+ 5,753 5,328 425
OAMe+=2 & XA 2AHE & S=ZSKA
s 5,753
—Jlas 41,6803 = 18 = 110 4,585
—F5d 41,6803 * 18 » 23¢ 959
R SPNES =RV Ea =, 41,680% * 1% = 52 209
201 ¢er24l 9,760 9,760 0
01 At 2t 2l 9,760 9,760 0
OIDXNAM AHHA 1002 * 6,0000H 600
ONYLAHE 200& = 1,0000H 200
OMN=g §210XAM 70,000 = 100 A 7,000
OAMeI+=2 Mg drEe s+
60,000& * 7HA * 23] 840
OJIRHAR &S A
70,000& = 8% « 23] 1,120
403 MtXISHHE X201 & 23,500 18,500 5,000
02 S| 2SO0l CHEHCH & A B 23,500 18,500 5,000
OHM2 = AAE XL =t
23,500,000& * 14l 23,500
405 RHoHE S HI 15,600 5,200 10,400
01 et EZFHSHI 15,600 5,200 10,400
O=d&X 23HI +&  2,600,000& * 6CH 15,600
N8 =D A 133,408 137,880 A4 AT2
HE =IO T AL 133,408 137,880 A4 A4T2
101 1Al 31,678 29,550 2,128
M4 D12t ZE2EXNEES 31,678 29,550 2,128
OME=EItA AR 31,678
—Jlas 41,680& * 10F * 302 * 23| 25,008
— &5 41,6803 = 10&8 = 6€ * 23l 5,002
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H: UHFTHEES (LY /ANLHE - HEXRZ)
SEHSEELSEEIN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
P EEES ey,
41,6803 = 10¥ * 2 « 23] 1,668
201 L2l 101,730 108,330 A 6,600
01 At 22l 101,730 102,080 A 350
ODIZA BSFEIA AE442 3,750
— Z AtHI 50,000 = 1000H&S = 1/2 2,500
— E&4 25,0009 = 1000 & * 1/2 1,250
OME =2 HFEN RO
50,000 258t A 1,250
OMNEFEIIA ZALE R
50,000 » 302t 1,500
OMNE=EDIA ZAICHY & 2F 221 &=+
o 60,0003 * 1504 * 33 2,700
OME =2 ASEY T4
8,000& = 1,0000H 8,000
OMEFEII 88 S 8XNRY
35,000& * 508 1,750
OMNE =B dZEIA S =2 77,440
—MEIIA AE
48,4003 * 25,000& * 12% * 1/2 72,600
—SANESIHA ZE
48,4002 * 500& * 50% * 30% * 1/2 1,815
~ MFIH BB
48,4003 * 2505 = 50% * 1/2 3,025
OMNEFEINAFIIA T2 KAl
600,000& * 8copy * 1/2 2,400
OSSHEIIAS Haay
70,000% = 1298 * 73] = 1/2 2,940
N&ag=2 800 5,840 A5,040
S22 NMIXZA 800 5,840 A5,040
201 Let24d] 800 800 0
01 At 2teltl 800 800 0
OX&AH MEEAN ROl 2,000& = 400A 800
HE2AZH (M) (J1EH/IIE) 155,340 151,140 4,200
Jl= &l 155,340 151,140 4,200
Jl22Z34 155,340 151,140 4,200
201 2et24d] 29,940 29,940 0
01 At 2teltl 29,940 29,940 0
O=AERX ¢ 13,000 » 304 « 123 4,680
OS20AH| 6,000& = 64l » 3098 » 123 12,960
Oget =8 100,000& * 12& 1,200
OAL7E &S A7 50,000& = 12& 600
O4LAa2 =44l 8,700
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¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— SAI =2l 500,000& = 1.5CH 750
—Z2HI =2 100,000& * 5CH * 50/100 250
—SAMI ENH 200,000& * 53| = 1.5CH 1,500
—ZRHII(EY) EY
200,000 = 53] = 504 5,000
—PC =cl 100,000& = 30CH * 20/100 600
— JIEt =2lHl 50,000& * 12& 600
OJIE AFR2t2lH] 5,000& = 30¥ ~ 123 1,800
202 O4dl 120,000 115,800 4,200
01 = LH 4 Hi 120,000 115,800 4,200
ONSu 2= Wbl 120,000
— 2t 04 dl 20,0003 » 30& » 12&€ = 12E 86,400
— 220yl 80,000& = 30 = 14 33,600
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLH] 350,000 * 12& 4,200
204 MR FH| 1,200 1,200 0
01 MR I 1,200 1,200 0
ONBIARLHHY (NPT

)
100,0008 * 12 * 1228 1,200




